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1. Choose the correct sentence

A. It is high time he will start earning

B. Itis high time he started earning
C. It is high time he starts earning

D. It is high time he has started earning

Ans: B

2. From among the four options given, choose the correct
sequence of the four phrases given below, to make a meaningful
sentence:

A. | am rediscovering

B. On the rising COVID numbers

C. Nervously, with one eye

D. The joy of travel, albeit

A) (D). (B),(A), (C)

B)*(C), (A), (B), (D)

C) (B),(C), (D), (A)

D) (A), (D), (C), (B)

Ans: D
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3. Which of the following is a one-word substitute for ‘a soldier who
fights for the sake of money?

A. Hireling

B. Mercenary

C. Assassin

D. Hitman

Ans: B

4. Identify the correct form of indirect speech of the following
sentence.

The policeman said to us, “Where are you going?”

A. The policeman asked us about our destination

B. The policeman requested where are you going

C. The policeman ordered us to go where he wanted

D. The policeman enquired where we were going

Ans: D

5. In the sentence below a part is italicised. Which of the choices as
a replacement will improve the sentence?

| hate as you can sing so well and | can'’t.

A. hate

B. hate it that

C. hate that

D. hate it

Ans: B
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6. From among the four option given, choose the preposition
that will be the best fit for both the blanks in the sentence
given below:

When you bring home a pet, it soon becomes a member

the family and its loss is as devastating as the death any
loved one.

A. off

B.in

C.of

D. with

Ans: C

7. Match List | with List Il

List | (Word) List Il (Linked word)
A) Letters 1) Time
B) Papers II) Printed
C)Cards lI1) Friends
D) Clock V) Basket

Choose the correct answer from the options given below:
A. (A)(1), (B)-(I), (C)-(IV), (D)-(Ii1)

B. (A)-(IV), (B)-(ll), (C)-(1), (D)-(lIT)

C. (A)-(lln), (B)-(1V), (C)-(1n), (D)-(1)

D. (A)-(IV), (B)-(IlT), (C)-(1), (D)-(Il)

Ans: C
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8. Choose the correctly spelt word.
A. Wharewhithal

B. Wherewithal

C. Wherewital

D. Where whital

Ans: B

9. Choose the correct option to make a.meaningful sentence.

The paragraph should not five hundred words.
A. Accede

B. Exceed

C. Access

D. Excess

Ans: B

10. Choose the correct passive voice form of the following
sentence:

People are destroying large areas of forest every day.

A. Large areas of forest was being destroyed every day.

B. A'large areas of forests were destroyed every day by the people.
C. Large areas of forest are being destroyed every day.

D. Every day people have destroyed large areas of forests.
Ans: C
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11. Former Indian cricket captain Gundappa Ranganatha
Vishwanath has penned his autobiographytitled | co-
authored by senior journalist R Kaushik.

A. Playing It My Way

B. The Test of My Life

C. Wrist Assured : An Autobiography

D. 281 and Beyond

Ans: C

12. Who has been elected as the new President of South Korea
to replace incumbent President Moon Jae-in?

A. Lee Jae-mung

B. Ban ki-Moon

C. Hong Joon-pyo

D. Yoon Suk-Yeol

Ans: D

13. Who has become the first engineer to become the chief of
army staff?

A. Lieutenant General Manoj Pande

B. Lieutenant General B.S. Raju

C. Lieutenant General Manoj Mukund Narvane

D. Commander-in-chief Upendra Dwivedi

Ans: A
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14. Who has won the 2022 Laureus Breakthrough of the Year
prize?

A. Valentino Rassi

B. Emma Raducanu

C. Tom Brady

D. Neeraj Chopra

Ans: B

15. Which of the following has launched the world’s first index
family focused exclusively on tracking the price of carbon
removal?

A. NIFTY

B. SENSEX

C. NASDAQ

D. NABARD

Ans: C

16. Find the next number
19,31,45,64,

A. 81

B.79

C.90

D. 84

Ans: B

CUET PG PART A QUESTION PAPER CONDUCTED ON 15T SEPT 2022 FIRST SHIFT


https://learningskillsindia.com/

https://learningskillsindia.com/

17. If MONKEY is coded as OPNZFL, How will PIGEON be
coded?

A. RKIGQP

B. HHQFPM

C.GJOPFR

D. RKIPQG

Ans: B

18. Choose the pair that best represents a similar relationship
to the one expressed in the original pair of words.

Cobbler : Shoe

A. Carpenter : Wood

B. Mason : Brick

C. Contractor : Building

D. Potter : Mud

Ans: C

19. Sham left his home and walked 12km towards South - East.
Then he turned right and walked another 8 Km. Again he
turned right and ran for 15 Km. Then he turned 45° in a
clockwise direction and continued walking. In which direction
he is walking now with respect to the starting point.

A. North-East

B. North

C. South
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D. North-West
Ans: D

20. Ram said to Ashok that the woman standing in front of him
has a granddaughter who is the only daughter of my brother.
How is a woman related to Ram?

A. Aunt

B. Mother

C. Wife

D. GrandMother

Ans: B

21. A family consists of a mother, a father, and some children.
The average age of the members of the family is 20, the father
is 48 years old, and the average age of the mother and children
is 16. How many children are in the family?

A 8

B.7

C.9

D.6

Ans: D

22. What is the value of K, for which one root of the quadratic

equation Kx% -14x + 8 = 0 is six times the other?
A1

CUET PG PART A QUESTION PAPER CONDUCTED ON 15T SEPT 2022 FIRST SHIFT


https://learningskillsindia.com/

https://learningskillsindia.com/

B. 2.
C.3
D. 4
Ans: C

23. A dealer sold a bicycle at a profit of 10% Had he bought the
bicycle at 10% less price and sold it at a price 60 more, he
would have gained 25% The cost price of the bicycle was:
A.%2.600

B. 22,000

C.%2,200

D. 2,400

Ans: D

24. In a business, ‘B’ is a sleeping partner and ‘A’ is a working

partner. ‘A’ invests ¥5,000 and ‘B’ invests ¥6,000. ‘A’ receives
12%% of profit for managing the business and the remaining

profit is divided in proportion to their capitals. A’s share of
profit in a total profit of 880 is:

A. 350

B. 400

C. 420

D. 460

Ans: D
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25. A train 800 meters long is running at a speed of 78 Km per
hour. If it crosses a tunnel in 1 minute, then the length of the
tunnel (in meters) is :

A. 130

B. 360

C. 500

D. 540

Ans: C
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